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ef dsal reverse(s,n):
l=len(s)
1if 1==0:return s
offset=1-n%l

l=s[:0ffset]
r=s|[offset:]
return r+l
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ief dsal factorialSum(n):
s=0
f=1

for i in [j+1 for 3 in range(n)]:
f=f~ji
s4=1
arn S
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AR, B EMFER I TH, XA sedl R
ABARH R — D F IR A Wiocdl(1, 2, 3)M("abc”, "def", "ghi")
A Rl 4i{1:"abc", 2:"def", 3:"ghi"}.

ief dsal generateDict (keys, values):

return dict(zip(keys,values))
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four-five", ix[A]12345.

dief dsal enZnum(s):
d={'one':
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return int("".join([d[i] for
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EEMIFE . WEEZH DT v abc"M"bed", i [Hset([‘a’
b, 'c’, 'd]).

ief dsal getUnion(sl,s2):

arn set(sl) |set (s2)
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ief dsal getDays(y,m):
a=131,28,31,30,31,30,31,31,30,31;30,31)
1=(31,29,31,30,31,30,31,31,30,31,30,31]})

ief is leapyear(y):

if (y$400==0) or ((y%4==0)and(y%100!=0)):

p-

recurn True

-

recturn False
arn (1[m-1] if is leapyear(y) else a[m-1])
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1634) ,ix[HTrue 534 False.

dsal isNarcNum(n):
s=str(n)

l=len(s)

sm=0

EOT 1 3In 8¢
sm+=int (i) **1

(True if
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narcissistic.txt 1130, BN EAEN—ITHIH .

dsal writeNarcNum(max) :
=open (r'narcissistic.txt’','w’)

for 1 in range (100, max+1):

1T dsal isNarcNum(1i):
f.write(stxr(i)+'\n")
f.close()
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S — A, 12 A SH8 i H i) S narcissistic.txt, P71
I 2R B SR ARALEE, IR B R R Nint 2,
B 413 [81[153,370,371].

dsal readNarcNum():
=open(r'narcissistic.

1=[]

for 1line in f:
l.append(int (line[:-1]))
f.close()
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def dsal printTri(n):
a,b=[1],[]
for i in [t+l for t in range(n)]:
print (" ".join([stxr(t) for €t in al))
b.append (1)

for § in range(l1,1i):
b.append(a[j-1]1+alj])

b.append(1l)

a,b=b(:],[]
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__init (self,name,age):
self.name=name
self.age=age

- getName (self):
recurn self.name

. getAge (self):
return self.age
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Bl —Student 2§, Student 284% & | —Eid jPeople 2%, 3t
H¥ghn 7 J&tsno, sno Fxi5, I 1 JiikgetSno.

Student (People) :
ief 1init (self,name,age,sno):
People. 1init (self,name,age)

self.sno=sno
getSno (self) :
recurn self.sno
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Bl — I Xdict 25, 47K Hdict Z5(python H 7 #1L28), {#15Xdict
K Frdict KW A ER1E, FHHIII—"J7kgetKeys, F T &[]
75 SE AT N R A1) . (] X dict — NS4 yxd=Xdict({2:"a",
3:"a", 4:(2,3)}), Nixd.getKeys("a")i& {8 N[2,3])

class Xdict (dict):

def getKeys (self,value):
return [k for k,v in self.items() if v==value]







